Read each word problem. Count
the pictures to find the sum.

A squirrel collects 3 acorns from one tree and Y acorns

from another tree. How many acorns does the squirrel have
in total?

f — ’
(o) )
\
\ 1\
- \
- [ 4
iy, J
d -""\,_.
y
F
- . ‘ ‘ . '

At the picnic, the rabbits bring 2 carrots, and the deer
bring 3 apples. How many pieces of food are at the

() Picnic in total?
N

Two birds are building nests. One bird collects 5 twigs and
the other bird collects 3 twigs. How many twigs do they
collect together?
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